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Table 4. Probability and Statistics Formulas (Continued)

Hypothesis Tests (One-Sample)

Null Alternative | Test Rejection
Hypothesis Assumptions Hypothesis Statistic Region
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Table 4. Probability and Statistics Formulas {Continued)

Hypothesis Tests (Two-Samples)

Null

Alternative Test Rejection
Hypothesis- | Assumptions Hypotliesis Statistic Region
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" pairs, ED < Ay T = D- AO T< —tan—1
n small, Sp /\/— >
dependence BD # Ao [T|> taf2,n-1
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n1, ng large \/PQ(I/M +1/n2) 7 <
. , Pr—p2<0 Xi+ X; S~z
independence p=
~p2#0 “ny+ng | Z | > 2,0
P1—py = Ay | binomial exbs., P1—p2 > Ay Z 2z,
.mé o lf s P1—pz <Ay *———-——(pl £2) — 8o Z < —2z,
Independence m Ml . i
—-p2# Ap n1+n: ]Z[zz‘,/z
051 = o} normality, o> o2 P & P ngest
independence 0? < o2 = 52/52 F<Fygniotny-1
Uf #Ug F S F].—g-,n;—l,na—-l

or
F2Fgn1n5-1




